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= = S AV 7 S HVE | = = S AV = S AV B2l =
1 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/M%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.001 0.00 ~ 454 56.60| Z=h Lot = Bt - - - Zhn st 1.00] 5.00 ~ 5.00 56.60| Zh st = Ind - - -
5 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
Zhn st 1.00]10.00 ~ 471 58.67| =h iyt = Bt - - - Zhn st 1.00] 5.00 ~ 5.00 58.67| =huist = Ind - - -
3 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.001 0.00 ~ 6.97 88.41| #h st | 000 ~ 0.00( 1.66 8.72 Zhn st 1.00] 5.00 ~ 8.90 88.41| #hist | 500 ~ 8.90| 1.66 8.72
4 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.001 0.00 ~ 6.23 78.22| #hist | 000 ~ 000| 1.57 8.23 Zhn st 1.00] 500 ~ 8.00 78.22| #h st | 5.00 ~ 8.00| 1.57 8.23
- 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00]10.00 ~ 7.21 91.78] #hii4 | 000 ~ 0.00| 1.66 8.69 Zhn st 1.00] 5.00 ~ 9.50 91.78] #h st | 500 ~ 950| 1.66 8.69
6 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
ZFh st 1.00/ 000 ~ 7.61 97.44| #hilst (000 ~ 761| 1.75 9.17 Fh st 1.00] 500 ~ 10.10 97.44| Zhils | 500 ~ 10.10|] 1.75 9.17
; 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00{0.00 ~ 7.69 98.58| #h 4t | 000 ~ 7.69| 1.75 9.16 Zhn st 1.00] 5.00 ~ 10.30 98.58| =h st [ 500 ~ 10.30f 1.75 9.16
g 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhnst - -~ - -| £hist = Kt - - - Zhn st - = Rt - -| £hist = Ko - - -
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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